Ex 1.
1) True
2) False
3) True
4) True
5) False
6) False
7) True
8) False
Ex 2.
1) The two main problems of public transport are the new type of car and its efficient use.
2) Small electric car may become a usual means of transport in the future.
3) The possible development in private cars is the use of an automatic guidance system.
4) A computer, fuel adjusting devices, an electronic instrument panel for indicating the speed, time, distance covered and fuel left are used in modern cars.
5) Detection of all possible dangers in front of the car on the road is the main function of the radar in the car.
6) New generation car will  have four-wheel control system ensuring diagonal and side movements.
7) Modern car design uses ceramics.
